4

A ’ RN N — .
101&%1 * 3 ki ﬁ fl Wi HET» B2y eopa0 B
R BT A TR AR ALE A et L YRR (E®)

e wiﬁi%ﬁ

BE ot L
#p R EE S
%?ii:(—)?u.éﬁﬁ;-};iggo

OF SR TR RS FRRBOER B AGRE O AR FEE 0 25 78 o

3L

e

— S FURA R AR 2 B Y R AP R T T E T AR S (
W ivE )
OFJIaE>AF101£5-6 7 PEYERT BT AT
Ly FE a2t FREE2 4 @VIJ:% 2000 000 =~ »3%{7 R ¥ jrecde-

i
PR E Ao
2.5 % % 47 £ 2 4 8 4z~ 5,000,000 % o
BEF A ERE 52 4842~ 1,000,000 ~ -
4.5 5 ¥ 2L A F o frpie 2 § ak2 18 0E fLgE 5 70,000 & o
PR FREZD RN ERES F 7 (5 4)
OBEITGFT2P G- L FFEA > ARI0LE 787 2y Emp M Fp4oT !
LR8N - %L 100 i @ &3 sl gzﬁzoooooo ~ > #.%F 100,000 =
# ¢ rﬂ*‘*?g& 400000 ~ > #38 20,000 = -
3¢

B vo— 3 £ 180 > sl 837 6,300,000 &~ (3 ) ; BRI H G
1 1,200,000 S Vuﬁmﬁ'@%\ﬁ 1,000,000 = (# 5 3 ¥ ) -
3. #p A4 & 47 200,000 & - #3F 10,000 & > 3 AP T o
4.5l 2 %0 L &3 6,800,000 & AriE 340,000 & o B-iF = BN - 3 R
Jodams > H c* 2 ¥ % 300,000 = > f%g 15,000 ~ -
5. A8 MY HEF A (ﬁw’“ %) 8,400,000 = - f3f 420,000 =~ - B-{H = B 4k
- L dods o
6.itv ff (LHITFAE) SAMPET2Z MY £ 5 6000000 ~ & ffiF
1,200,000 ~ - 7 # fRi+ % 240,000 = » § 4 4 1,000,000 ~ -
7. FﬁF«E‘-% 20,000 =~ » > A #iTd > Jow FEE 1,000 o
8.t #p %A% ¥+ AIE 600 %
ﬂ# #ﬁw ) NN #ﬁ TIeREIMIF S 5 ? B RIS §
LA R AT S ? (15 %)
Skt B3] 2 24 B3 ¥ E iz %id%ﬁ%ﬁ4¥§@$@ﬁﬁﬁﬁ’g§ﬂ@
Bekad) 77 ROIHLIREL? P 2 o (104)

“\

AN
)

AN

(

S FNFEFENEPE AN LR 2N T E R R Y R 2 2 o
(20 %)



101&%?3 B 2 ﬁ’ﬁ4ﬁ$%ﬁ%€é %F?F éiw‘*’z

i

- 3
fa 60240 T

; w=ai%$
o
Booop Y R

BPREBAZAELEEL S RO IR LA ENCHR AR 2 E 117 32
* 100 # 37 15 B}ﬁ'ﬂ- A BAF 260 £ 8% 9p 4 TR o Rmip Bz L3
Lo RBER S BT L FFA R G FERE
% 7100 & B #718 ~ AR 12 2 B Ja r FAldeT o
(1) FAEEHMNZIFALE 2ET gﬁxﬁ$dﬂ¥??wwa$3000000 Fe #4237 $600,000 - % £
4m\ﬂ<« 100 # 2 7 1 p#3% 99 #RE® L 2 L4 cha % & £ % $500,000 > #rﬁﬁmzﬁ
$25000° ¥ 3 A4 o FANRBE T EB R DT E :té'k}%';ff‘ 101 # 1 * x4 & #%5 100 £ &
EdpEE > w100 # 12 7 30 P g 34 chiE % £ 5 $450,000 0 de $142.37$22,500 -

(2 212D P L ZAAHRFEEME G T UFAASNFLLXFA o Z R PNFT S8R D
% 5% 7 $3000 100 & & &L H 12 B

B) AP iz a4 é#?*\ 5 5—“& = $29,500 > > A i % %% 7 $60,000 -

(4) FIR AiFL ’q—iiépﬁ’» B B2 ELL$1260000

(5) 2442 ua‘gf:z;;tha’?b%?* figd g oA ”$3000 £12@ 7 -

6) 242 FEHRFTE > GHFIMe L 27 100 AFLZ A2 hF > F £$100,000 -

(7) 24483 m 8437 #’;\% "i*‘v?iﬁiﬁagﬁo?i:—iév’ﬁ%%"fﬂiW%O,OOO’?r;‘ui"’*f*iffﬁ%
% 1 »~ $106,000 -

(8) i p* e LA T AN IR FNS E- o 0E P $5000 e g AL A 0 2 12
fg Voo S M SR F - SR TIE LS F P $20000 A4 T AEY dR2 L BAFHLE
7 * 5 $50,000 -

(9) % &2 g7 4] 4 #719$380,000 - 3 #4247 $19,000 -

(1002 £4100# 1% 2 @ Fyeenk 7 ¢ > 3 ¢ ©$20,000 0T 45 T #5— 5 o

3 7100 & B &L digp i T AT

(1) 342 }_z"\l X i i %+ $80,000 ©
(2 2L22¥EER $84OO P2 A AT R R K075 2 DA RERE S R L iRy
"% $1 oooo ,t EARE N NN SV w RIS i % £ $60,000 -
(B) % f= * Mﬁwg % mgzw: * +$75,000 > % ‘ﬁﬁ’iﬁJ_ ﬂx o
(4) 244 5% iz uqﬂ A 4 91$300,000 0 diAES & 4 2% HA14 &4 91$120,000 -
(5) 42 ==+ Fx% £$28,000 -
(6) A2 e M¥HE - %w“»:%” 4 chigE X 7% $120,000 - 1 4k E 47; A~ o
(7) 2422+ BE5E - Fie2 FaunAdH oy “raW g $30,000 > T e it H 5 0
100 & B 5% & #1717 frengeft s JE4r T
B 5 FerrEER L
1 0~500,000 = | 5%
2 500,001~1,130,000 = | 12%
3 |1,130,001~2,260,000 = | 20%
4 | 2,260,001~4,230,000 = | 30%
5 4,230,001 =1z ¢ 40%

ot By 1F RE e TR B AR R AR L0 ’%L—?ﬁ F a2 100 £ R i
BETIARE ~ AL~ - SR B RICR I A T IR R I AT AL 2
i3 fgp o (304 )

AR AR M RS B B AP E LR (15 ) C R E

S G RPN 100 E 20 A2 100 E R ERUAY AEH G2 A S 750 A o
E\7“"‘ 525~ FE R AP 3 480 0 FEhEz @ 100 £ & A H AR
@ FM2 Lo (54)



